Vypočítej:

	755 451		54 688			812 454		115 425
           - 65 706	         - 12 587			245 612		  34 812
				        		


	254 533		512 184		645 231		522 121
           - 64 230	           - 84 324	             32 889		326 510
			



Vypočítej a proveď zkoušku:

  32 681 : 52 =        
     







Vylušti rébus:

235 + 654 = 40
429 + 653 = 62
451 + 243 = 54
215 + 467 = ?
? = 22 (sčítají se jen liché číslice)


Vypočítej:

2/3 z 240 = 			5/9 z 4 500 = 
4/10 z 640 = 			5/7 z 4 900 = 

3/4 z 212 = 			1/4 z 2 800 = 
6/9 z 720 =			4/8 z 3 200 = 







Vypočítej:

	4 264			5 244			3 422			2 521
	.    23			.    14			.    32			.    41
		 
	





Doplň:
									
_   X		25		30		50		75	
5 . X = _______________________________________________     
X : 5 = 	__________________________________________


Převeď jednotky:

3 000 m =    km		35 m =     dm		36 km =                  cm
400 mm =     dm		10 dm =       mm		670 mm =     cm

20 ha =        m2		5 300 mm2 =       cm2		350 mm2 =      cm2
5 a =         dm2		2 km2  =        m2			8 000 m2 =      a



Porovnej (= < >):

15,46    15,7		4,50    4,5		18,23    18, 22			97,9    91,3
12,2    12,20		51,65    52,65		21,5     21,51			7,54     7,4

